Exercise 6

1.

Find derivatives of following functions:

a)
f(x) =4x3+2x?> —5x + 3
fl(x)=12x%+4x -5

b)

_(Bx*-1)

fx) = T 3

, o 6x-x®—(3x*-1)-3x> —3x*+3
flx) = )2 =—a

c)

1
f(x) = 2x? +3x+F

4
f’(x)=4x+3—;



f(x) = (4x + 3)%(2x* — 2)

fl)=2-(4x+3)-4-(2x*—2)+ (4x + 3)% - 4x = 4(32x3 + 36x% — 7x — 12)

(12x2 —4)(3x +3)3 — (4x3 — 4x) - 3-3(3x + 3)?
((3x + 3)3)2

F'G0 =

~(12x* = 4) _9 - (4x° —4x)

~ (3x+3)3 (3x + 3)4




f(x)=(x—3) -2

ff)=1-e*2+(x—-3)-1-e*2=(x—2) ¥ 2

f(x) = 25x2 +4e*x—2)*

fl(x)=2-25x+4-2(x—2)-1- e™*=2)% — 50x + (8x — 16)e(x—2)2

fx)=1In (;;_ZDD + x?2

v 1 2-@x—-1) - (1+2x)-2
fiix) = (1+2x) (2x — 1)2

2x—-1

+ 2x




f(x) = 3cos(x) + sin(3x)

f'(x) = —3sin(x) + 3cos(3x)

K)
f(x) = 4cos(x?) - sin(x)

f'(x) =4-2x - ((—sin(x?)) - sin(x) + 4cos(x?) - cos(x) = —8xsin(x?)sin(x) + 4cos(x*)cos(x)

)
f(x) = 2xsin(x)

f'(x) = 2sin(x) + 2xcos(x)



